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1- iqfLrdk esa i"̀Bksa dh la[;k%& 18 
2- iqfLrdk esa iz’uksa dks nks ikVZ esa foHkkftr fd;k x;k gS] 
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60 iz’u fn;s gq, gSaA  
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5- vks ,e vkj i=d ¼OMR½ Hkjus ds fy, dsoy dkyh 
L;kgh okys ckWy iksbZUV isu dk gh iz;ksx djsaA 

6- lHkh iz’uksa ds mRrj i=d ¼OMR½ ij nsaA 
7- izR;sd iz’u ds pkj oSdfYid mRrj fn;s x;s gSa] ftUgsa 

Øe’k% A, B, C, D vafdr fd;k x;k gSA vH;FkhZ dks 
lgh mRrj fufnZ"V djrs gq, muesa ls dsoy ,d xksys 
vFkok ccy dks mRrj&i=d ij dkys ckWy IokbaV isu ls 
xgjk djuk gSA 
8- izR;sd xyr mRrj ds fy, iz’u vad dk 1@3 Hkkx 
dkVk tks;xkA xyr mRrj ls rkRi;Z v’kq) mRrj vFkok 
fdlh Hkh iz’u ds ,d vf/kd mRrj ls gSA  
9- ,d ls vf/kd mRrj nsus dh n’kk esa iz’u ds mRrj dks 
xyr ekuk tk,xkA 
10- jQ dk;Z dsoy ijh{kk iqfLrdk ds vafre i"̀B ij fn;s 
x;s [kkyh txg ij gh djsaA 
11- eksckbZy Qksu vFkok bysDVªksfud ;a= ¼dsydwysVj 
lfgr½ dk ijh{kk gkWy esa iz;ksx iw.kZr;k oftZr gSA ;fn 
fdlh vH;FkhZ ds ikl ,slh dksbZ oftZr lkexzh feyrh gS 
rks mlds fo:) fu;ekuqlkj dk;Zokgh dh tk;sxhA 
12- ijh{kk d{k NksM+us ls igys iz’u i= ,oa mRrj i= dh  
iqfLrdk d{k fujh{kd dks ykSVk nsaA 
13- vaxzsth ;k fganh laLdj.kksa esa fdlh Hkh vlekurk ds 
ekeys esa vaxzsth laLdj.k dks lgh ekuk tk;sxkA  
 
psrkouh%&vxj dksbZ vH;FkhZ udy djrs idM+k tkrk gS ;k 
mlds ikl ls dksbZ vuf/k—r lkexzh ikbZ tkrh gS] rks ml 
vH;FkhZ ds fo:) iqfyl esa izkFkfedh ntZ djkbZ tk;sxh vkSj vk-
ih-bZ- ¼vuqlwfpr lk/kuksa dh jksdFkke½ vf/kfu;e] 1992 ds fu;e 
3 ds rgr dk;Zokgh dh tk;sxhA  
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PART A (English) 
 

Q.1  The name of Padamshri Mr. Kripal Singh Shekhawat is associated with which art form? 
 A. Blue Pottery  B. Minakari 
 C. Talwarbazi/ Fencing D. Horse Riding 
  

Q.2  On the occasion of Rang Teras celebrated after thirteen days of Holi, this dance form is 
performed in Mandal town: 

 A. Nahar B. Bindori 
 C. Chakri D. Ghoomar 
  

Q.3  Where are the Zinc smelters of Hindustan Zinc Limited installed in Rajasthan? 
 A. Chanderia, Agucha, Debari B. Debari, Agucha 
 C. Debari, Chanderia D. Chanderia, Agucha 
  

Q.4  Which district does not share a boundary with Haryana? 
 A. Hanumangarh B. Bikaner 
 C. Sikar D. Jaipur 
  

Q.5  Padamshri Miss Lutar who was dedicated for spreading women education worked in 
which area of Rajasthan? 

 A. Udaipur B.   Jaipur 
 C. Jodhpur D. Ajmer 
  

Q.6  Sheep and wool training institute is located in which city? 
 A. Beawer B. Jodhpur  
 C. Jaipur D. Bikaner 
  

Q.7  The winds responsible for winter rainfall (mavath) due to western disturbances are: 
 A. north-west winds B. north-east trade winds 
 C. south west winds D. south east trade winds 
  

Q.8  Which group of countries are on the same latitude as Rajasthan state? 
 A. Switzerland, Belgium, Sweden B. Thailand, Malaysia, Singapore 
 C. Algeria, Libya, Egypt D. Somalia, Ethopia, Ghana 
   

Q.9  "Languria" is related to which goddess? 
 A. Sheetala Mata B. Ausian Mata 
 C. Shakambari Mata D. Kaila Devi 
  

Q.10  The first Adaptation Gap Report on Climate Change was recently released by 
 A. World Bank B. United Nations Development 

Organisation 
 C. United Nations Framework Convention 

on Climate Change 
D. United Nations Environment Programme 

   
Q.11  World's first White Tiger Safari is set to come up in which state of India? 

 A. West Bengal B. Kerala 
 C. Madhya Pradesh D. Gujarat 

  
Q.12  World Fisheries Day was recently observed on? 

 A. 20 November B. 19 November 
 C. 22 November D. 21 November 
  

Q.13  Indian Space Research Organisation was recently conferred 'Space Pioneer Award' by the 
National Space Society (NSS) of which country over the historic feat on successfully 
sending a settalite to Mars in its very first attempt? 

 A. France B. European Union 
 C. China D. USA 
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Q.14  DRDO is building its new Missile Launch testing facility at which place    
 A. Mahanadi Delta complex B. Kaveri Delta complex 
 C. Krishna Delta complex D. Godavari Delta complex 
  

Q.15  Which country will host ICC T 20 World Cup in year 2016    
 A. Pakistan B. England 
 C. Australia D. India 
  

Q.16  Who amongst the following has been appointed as the new Foreign Secretary of India?    
 A. Alka Sirohi B. Dr. S. Jaishankar 
 C. Sujatha Singh D. Chokila Iyer 
  

Q.17   Which company has reported profit, which is highest ever by a public firm worldwide    
 A. Amazon B. Facebook 
 C. Apple Inc D. Flipkart 
  

Q.18  Name the NGO with which Nobel laureate Kailash Satyarthi is associated with? 
 A. Bandhua Mukti Morcha B. Bachpan Bachao Andolan 
 C. Mukti Caravan D. None of these 
  

Q.19  Average Cost Per Day Per Person(In Rs.) under MGNREGA in Rajasthan for Financial 
Year 2013-14 is: 

 A. 135.6 B. 120.3 
 C. 140.01 D. 150.20 
  

Q.20  Percentage of Disabled Persons Worked under MGNREGA in Rajasthan for  Financial 
Year 2013-14 is: 

 A. 1.5 B. 2.2  
 C. 0.06 D. 0.10 

  
Q.21  Tasks to be performed under MGNREGA should be using  

 A. Manual Labour & not Machines  B. Manual Labour &  Machines 
 C. Only Machines D. None of these 

  
Q.22  FORTRAN is 

 A. File Translation B. Format Translation 
 C. Formula Translation D. Floppy Translation 

  
Q.23  Computer instructions written with the use of English words instead of binary machine 

code is called 
 A. Mnemonics B. Symbolic code 
 C. Gray codes D. Opcode 

  
Q.24  To store a file having 20 MB size, which of the following can't be used? 

 A. Floppy disk  B. CD 
 C. DVD D. Pen drive 
  

Q.25  In a document you want to insert the equation AX2+BX+C=0. In this mathematical 
expression to type "2" which option shall be used? 

 A. Insert Clipart   B. Subscript 
 C. Superscript D.  Italics Style 
  

Q.26  Choose the correct alternative that will continue the same pattern and fill in the blank 
spaces. 
2, 1, (1/2), (1/4), ____ 

 A. (1/3) B. (1/8) 
 C. (2/8) D. (1/16) 
  

 
 

http://www.onlinetyari.com/question-bank/question-drdo-is-building-its-new-missile-launch-testing-i41998.html
http://www.onlinetyari.com/question-bank/question-which-country-will-host-icc-t-20-world-cup-i41995.html
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Q.27  A is twice as good a workman as B and together they finish a piece of work in 18 days. In 
how many days will A alone finish the work?  

 A. 31 days B. 25 days 
 C. 27 days D. 29 days 

  
Q.28  If BRASS is coded as 13566 then SIR may be coded as  

 A. 623 B. 315 
 C. 536 D. 420 
  

Q.29  The average of three numbers is 15 what is two times the sum of three numbers? 
 A. 30 B. 45 
 C. 90 D. 120 

  
Q.30  At the age of 10 days, a baby elephant eats 5 toffees. From that age onwards, its appetite 

grows and each day it eats twice the number of toffees it ate the previous day. How many 
toffees will the baby elephant eat at the age of 14 days? 

 A. 32 B. 80 
 C. 92 D. 112 

  
Q.31  P, Q and R start at the same time in the same direction to run around a circular stadium. P 

completes a round in 252 seconds, Q in 308 seconds and R in 198 seconds, all starting at 
the same point. After what time will they meet again at the starting point? 

 A. 36 minutes 12 seconds B. 40 minutes 36 seconds 
 C. 42 minutes D. 46 minutes 12 seconds 

  
Q.32  In a group of 20 singers and 40 dancers, 20% of the singers are less than 25 years old, and 40% of 

the entire group are less than 25 years old. What percent of the dancers are less than 25 years old? 
 A. 30 B. 45 
 C. 50 D. 70 

  
Q.33  How many minutes will it take to completely fill a water tank with a capacity of 3750 

cubic meters if the water is being pumped into the tank at the rate of 800 cubic metres per 
minute and is being drained out of the tank at the rate of 300 cubic metres per minute? 

 A. 4 min. 36 sec B. 7 minutes 
 C. 7 min. 30 sec. D. 8 minutes 

  
Q.34  Madhulika made a number stage; pattern has been followed in it. 

3 
5 8 

11 19 30 
49 79 ? 207 

What number should come into the blank space? 
 A. 121 B. 125 
 C. 128 D. 134 

  
Q.35  Tick the correct option: The cowherd was watching his ____________of cattle grazing in 

the forest. 
 A.  flock B. Herd 
 C. swarm D. pack 

  
Q.36  Fill the blanks with appropriate word: The _______bank is five miles from here. 

 A. near B. nearer 
 C. nearest D. most near 
  

Q.37  There are many obscurants in today's world. An obscurant is a person 
  A. Who is opponent of inquiry and reforms B. Who is deeply materialisic 
  C. Who has vast experience in a field D. who is obscure 
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Q.38  gekjs ns’k ds ohj flikgh ns’k ds gsrq cfynku nsus ds fy, lnSo rS;kj jgrs gSaA*  
okD; dk js[kkafdr va’k dkSulk dkjd gS? 

 A. viknku B. dj.k 
 C. laiznku D. lacks/k 
  

Q.39  tks ckny xjtrs gSa] os cjlrs ughaA js[kkafdr loZuke 'kCn ds mfpr Hksn fyf[k,A 
 A. iq:"kokpd loZuke B. laca/kokpd loZuke 
 C. fu’p;okpd loZuke D. futokpd loZuke 

  

Q.40  xUus ds jl dh feBkl LokHkkfod gksrh gSA* okD; ds js[kkafdr 'kCn dk laKk Hksn gS& 
 A. O;fDrokpd B. tkfrokpd 
 C. Hkkookpd D. nzO;okpd 

 

 

 

 

PART B (English) 
Q.41  Which of the soils is transported through wind 

 A. Loess B. Talus 
 C. Drift D. Sand dunes  
  

Q.42  If the degree of saturation of a partially saturated soil is 60% then air content of the soil is  
 A. 40% B. 60% 
 C. 80% D. 100% 
  

Q.43  The ratio of volume of voids to total volume of soil mass is called  
 A. Air content B. Porosity 
 C. %age air void D. Voids ratio 
  

Q.44  The water content of soil which represents the boundary between plastic state and liquid 
state is known as  

 A. Liquid limit B. Plastic limit 
 C. Shrinkage limit D. Plasticity index 
  

Q.45  Size of aperture of 150 micron IS sieve is  
 A. 0.0015 mm B. 0.015 mm 
 C. 0.15 mm D. 1.5 mm 
  

Q.46  A dry soil has a specific mass of 1.35. If specific gravity of solids is 2.7, then voids ratio is  
 A. 0.5 B. 1.0 
 C. 1.5 D. 2.0 
  

Q.47  A soil having particles of approximately the same size is known as  
 A. Well graded  B. Poorly graded 
 C. Uniformly graded   D. Gap graded  
  

Q.48  Quick sand is a  
 A. Type of sand B. Cohesionless soil 
 C. Flow condition occurring in 

cohesive soils 
D. Flow condition occurring in cohesionless 

soils 
  

Q.49  Falling head method to determine permeability is best suited for  
 A. Clayey soils B. Coarse grained soils 
 C. Both (a) and (b) D. None of the above 
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Q.50  For compaction of soil in laboratory using Indian standard light compaction test, the 
weight of hammer used for giving blows to soils is 

 A. 6.5 kg B. 4.9 kg 
 C. 3.5 kg D. 2.6 kg 
  

Q.51  In standard penetration test the height of fall of hammer is 
 A. 56 cm B. 66 cm 
 C. 76 cm D. 86 cm 

Q.52  The relationship between modulus of elasticity (E) and Bulk Modulus (K) and Poisson’s 
ratio m is   

 A. E=3k(1-2m) B. E=3k(1+2m) 
 C. E=3k(1-m) D. E=3k(1+m) 
  

Q.53  The material that has same properties in all directions is called 
 A. Homogenous B. Isotropic 
 C. Elastic D. Orthotropic 
  

Q.54  Which of the following is indeterminate 
 A. Simply supported beam B. A propped cantilever with internal hinge  
 C. Cantilever D. Beam with both ends fixed 
  

Q.55  For a pin jointed plane frame the relation between number of joints j and number of 
members m is given by 

 A. m=2j-3 B. m=2j+3 
 C. m=3j-2 D. m=3j+2 
  

Q.56  In a simply supported beam carrying a udl (w) along full span (L), the maximum bending 
moment at centre would be    

 A. w L2/4 B. w L2/8 
 C. w L2/12 D. w L2/16 
  

Q.57  The relationship between radius of curvature R, bending moment M and flexural rigidity 
EI is given by 

 A. R=M/EI B. M=EI/R 
 C. EI=R/M D. E=MI/R 
  

Q.58  Slope of the fixed end of a cantilever beam subjected to udl w/unit length throughout the 
span L is  

 A. wL2/16EI B. wL3/16EI 
 C. wL/16EI D. Zero 
  

Q.59  The deflection at centre of  a simply supported beam of span L subjected to concentrated 
load W at midspan is  

 A. WL3/48EI B. WL2/48EI 
 C. WL2/16EI D. WL3/16EI 
  

Q.60  The diagram showing the variation of axial load along the span is called  
 A. Shear force Diagram B. Bending moment diagram 
 C. Thrust diagram D. Influence Line Diagram 
  

Q.61  Section modulus of a circular section of diameter d is  
 A. πd3/64 B. πd3/32 
 C. πd3/16 D. πd3/8 
  

Q.62  Hoop stress is  
 A. Circumferential tensile stress B. Compressive stress 
 C. Radial stress D. Longitudinal stress 
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Q.63  In case of thin walled cylinders the ratio of hoop stress to longitudinal stress is  
 A. 2 B. ¼  
 C. 4 D. ½  
  

Q.64  A shaft of diameter d is subjected to a torque T, the maximum shear stress is 
 A. 32T/πd3 B. 16T/πd2 
 C. 16T/πd3 D. 64T/πd4 
  

Q.65  The units of surface tension are  
 A. Same as units of force B. Energy per unit area 
 C. Force per unit area D. Dimensionless 
  

Q.66  Pitot tube is used for measurement of  
 A. Pressure B. Velocity 
 C. viscosity D. surface tension 
  

Q.67  The upper surface of weir over which water flows is known as  
 A. Nappe B. Crest  
 C. Sill D. Vein  
  

Q.68  Mercury is used in barometers because  
 A. it is perfect fluid B. its volume changes with temperature 
 C. it is a liquid metal  D. it gives less height of column for high pressure 
  

Q.69  Flow in a pipe is laminar if Raynolds number is 
 A. Less than 2000 B. Between 2000 and 4000 
 C. Between 4000 and 6000 D. Above 6000 
  

Q.70  Pelton wheel is a  
 A. tangential flow turbine  B. radial flow turbine 
 C. mixed flow turbine D. axial flow turbine 
  

Q.71  The specific speed of a Francis turbine is in the range of 
 A. 10 to 35 B. 35 to 60 
 C.  40 to 60  D. 300 to 1200 
   

Q.72  In brick masonry the frog of the brick is normally kept on the  
 A. Bottom face  B. Top Face 
 C. Exposed face D. Interior face 
  

Q.73  A bond made by alternate header and stretcher in the same course is known as  
 A. Stretcher Bond B. Header Bond 
 C. English Bond D. Double Flemish Bond 
  

Q.74  The sides of the openings such as doors, windows are known as   
 A. Jambs B. Heads 
 C. Reveals D. Verticals 
  

Q.75  A Dowel is a  
 A. Fastener B. Support 
 C. Joint in wooden pieces D. Tool used in wood work 
  

Q.76  The slope of stair should not be more than  
 A. 40 degree B. 45 degree 
 C. 50 degree D. 60 degree 
  

Q.77  The member laid horizontally to support the common rafters and which transmit the load 
to truss or walls is called  

 A. Jack rafter B. Dragon Beam 
 C. Purlins D. Battens 
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Q.78  In long buildings expansion joints are recommended to be provided at interval of  
 A. 20-30 m B. 50-60 m 
 C. 70-80 m D. 90-100 m 
  

Q.79  Principle of surveying followed to prevent accumulation of errors is  
 A. to work from whole to part B. to work from part to whole 
 C. none of the above D. both (a) and (b)  
  

Q.80  The survey in which the curvature of earth is ignored, is known as  
 A. plane survey B. geodetic survey 
 C. geological survey   D. aerial survey 
  

Q.81  The representative fraction  1/1,00,000 signifies a scale of  
 A. 1 cm = 100000 m B. 1 cm = 10 km  
 C. 1 cm = 1 km D. None of the above 
  

Q.82  The maximum pitch of any two adjacent rivets in terms of thickness of plate “t”  is 
limited to 

 A. 24t B. 32t 
 C. 36t D. 40t 
  

Q.83  Magnetic bearing of a line is the   
 A. Horizontal angle which it makes with the magnetic meridian 
 B. vertical angle which it makes with the magnetic meridian 
 C. vectorial angle which it makes with the magnetic median 
 D. any of the above 
  

Q.84  The graduated ring of a prismatic compass starts with zero mark and it is marked at  
 A. north side B. south side 
 C. east side D. west side 
  

Q.85  In the quadrantal bearing system, whole circle bearing of 204o-30’ will be expressed as  
 A. W 65o – 30’ S B. S 65o-30’ W 
 C. S 24o-30’ W  D. S 24o-30’ E 
  

Q.86  The bench mark established by the Survey of India Department with very high precision 
with reference to mean sea level is known as  

 A. G.T.S. Bench Marks B. Permanent Bench Mark 
 C. Arbitrary Bench Mark D. Temporary Bench Mark 
  

Q.87  The trunnion axis or transverse axis is  
 A. the axis about which the telescope can be rotated in a vertical plane 
 B. the axis about which the telescope can be rotated in a horizontal plane 
 C. the vertical axis 
 D. the horizontal axis 
  

Q.88  A curve having varying radii and introduced in between a straight and a circular curve is 
known as  

 A. compound curve B. transition curve 
 C. vertical curve  D. summit curve 
  

Q.89  The size of cube to determine characteristic compressive strength of concrete is  
 A. 150 x 150 x 150 mm B. 175 x 175 x 175 mm 
 C. 200 x 200 x 200 mm D. 225 x 225 x 225 mm 
  

Q.90  During mass concreting which cement is recommended to be used 
 A. Rapid Hardening Portland Cement B. Low Heat Cement 
 C. Quick setting cement D. Sulphate Resisting Cement 
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Q.91  A slump cone is used primarily to provide indication of which of following in concrete 
 A. Durability and finish B. Air entrainment and chemical resistance 
 C. Strength and workability D. Appearance and color 
  

Q.92  Main objective of compaction of concrete is   
 A. To eliminate air voids 
 B. to achieve maximum density 
 C. To provide proper contact between concrete and reinforcing materials 
 D. All of the above. 
  

Q.93  As per IS:456-2000, minimum recommended grade of concrete for structural use is  
 A. M 30 B. M 25 
 C. M 20 D. M 15 
  

Q.94  In case of slabs using HYSD bars the minimum %age of steel recommended is  
 A. 1.0 % B. 0.3 % 
 C. 0.15 % D. 0.12 % 
  

Q.95  The thickness of gusset plate should not be less than 
 A. 6 mm B. 8 mm 
 C. 10 mm D. 12 mm 

  
Q.96  Lacings in the built up steel columns are designed to resist  

 A. Bending  Moment due to 2.5% of 
column load 

B. Shear Force due to 2.5 % of column load 

 C. Axial force due to 2.5 % of column 
load 

D. Both (A) and (B) 

  
Q.97  The bacteria which can survive with or without free oxygen is   

 A. Aerobic bacteria B. Anaerobic bacteria 
 C. Faculative bacteria D. Coliform bacteria 
  

Q.98  The settling velocity of inorganic particles in a sedimentation tank of the water treatment 
plant is governed by 

 A. Darcy’s Law B. Dupuit’s Law 
 C. Stoke’s Law D. None of the above 
   

Q.99  The water meter, which is installed on individual house connection, on municipal supply 
is  

 A. Velocity meter B. Inferential meter 
 C. Displacement meter D. Speedometer 
   

Q.100 The maximum efficiency of the BOD removal is obtained in  
 A. Oxidation ditch B. Oxidation pond 
 C. Aerated lagoon D. Trickling filter 
  

 

----END (ENGLISH)---- 
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Part A (Hindi) 
 

Q.1  iùJh d`iky Çlg ’®[kor dk lEcU/k fdl dyk ls gS? 
 A. CY;w iksVjh B. ehukdkjh  
 C. ryokj ckth  D. ?kqM+lokjh 
   

Q.2  gksyh ds rsjg fnuksa ckn jax rsjl ij ek.My dLcs esa ;g u`R; fd;k tkrk gS& 
 A. Ukkgj B. fcUnkSjh  
 C. pkdjh D. ?kwej 
  

Q.3  fganqLRkku ftad fyfeVsM] mn;iqj ds ftad LesYVj jktLFkku esa dgka fLFkr gSa?  
 A. pansfj;k] vxwpk] nsckjh  B. nsckjh] vxwpk 
 C. nsckjh] pansfj;k  D. pansfj;k] vxwpk 
  

Q.4  gfj;k.kk dh lhek ls tqMk ftyk ugha gS? 
 A. guqekux<+ B. chdkusj 
 C. lhdj D. t;iqj 
  

Q.5  efgyk f’k{kk ds izlkj ds fy, lefiZr iùJh fel ywVj dk dk;Z {ks= FkkA  
 A. mn;iqj B. t;iqj  
 C. tks/kiqj  D. vtesj 
  

Q.6  HksM+ o Åu izf’k{k.k laLFkku dgka fLFkr gS? 
 A. C;koj B. tks/kiqj 
 C. t;iqj D. chdkusj 
  

Q.7  if’peh fo{kksHk ls lnhZ esa gksus okyh o"kkZ (ekoV) ds fy, dkSulh LFkk;h iousa ftEesnkj 
gksrh gS? 

 A. mRrj if’peh iousa B. mRrj iwohZ O;kikfjd iousa 
 C. nf{k.k if’peh iousa D. nf{k.kh iwohZ O;kikfjd iousa 
  

Q.8  ;s ns’k mUgha v{kk’kksa ij fLFkr gSa] ftu ij jktLFkku izns’k gSa&  
 A. LohVtjySaM] csfYt;e] LohMu B. FkkbyS.M] eysf’k;k] flaxkiqj 
 C. vYthfj;k] yhfc;k] feJ  D. lksekfy;k] bFkksfi;k] ?kkuk 
  

Q.9  ̂ykaxwfj;k* dk laca/k fdl nsoh ls gSa? 
 A. 'khryk ekrk B. vkSfl;ka ekrk 
 C. 'kkdEHkjh ekrk D. dSyknsoh 

  

Q.10  tyok;q ifjorZu ij igyk vuqdwyu xSi fjiksVZ gky gh esa tkjh dh x;h& 
 A. fo’o cSad }kjk B. la;qDr jk"Vª fodkl laxBu }kjk 
 C. tyok;q ifjorZu ij la;qDr jk"Vª 

ÝseodZ dUosa’ku }kjk  
D. la;qDr jk"Vª i;kZoj.k dk;ZØe }kjk 

   

Q.11  fo’o dh izFke lQsn ck?k lQkjh Hkkjr ds fdl jkT; esa vkus ds fy, rS;kj gS? 
 A. if’pe caxky B. dsjy 
 C. e/; izns’k D. xqtjkr 
  

Q.12  gky gh esa fo’o eRL; fnol euk;k x;k? 
 A. 20 uoacj B. 19 uoacj 
 C. 22 uoacj D. 21 uoacj 
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Q.13  Hkkjrh; varfj{k vuqla/kku laxBu dks gky gh esa vius izFke iz;kl esa gh eaxy xzg ij ,d 
mixzg dks lQyrkiwoZd Hkstus ds ,sfrgkfld dne gsrq fdl ns’k dh us’kuy Lisl 
lkslkbVh ¼,u,l,l½ }kjk Lisl ik;fu;j iqjLdkj ls lEekfur fd;k x;k Fkk? 

 A. Ýkal B. ;wjksih; la?k 
 C. Pkhu  D. la;qDr jkT; vesfjdk 
  

Q.14  MhvkjMhvks fdl LFkku ij viuh ubZ felkby ykWUp lqfo/kk cuk jgk gS? 
 A. egkunh MsYVk dkWEIysDl B. dkosjh MsYVk dkWEIysDl 
 C. —".kk MsYVk dkWEIysDl D. xksnkojh MsYVk dkWEIysDl 
  

Q.15  dkSulk ns’k o"kZ 2016 esa vkbZlhlh Vh 20 oYMZ di dh estckuh djsxk? 
 A. ikfdLrku B. baXys.M 
 C. vkWLVªsfy;k D. Hkkjr 
  

Q.16  fuEufyf[kr esa ls dkSu Hkkjr ds u, fons’k lfpo ds :i esa fu;qDr fd;s x;s gSa? 
 A. vYdk fljksgh B. MkW- ,l- t;’kadj 
 C. lqtkFkk flag D. pksfdyk v¸;j 
  

Q.17  fdl dEiuh us vius ykHk dh lwpuk nh] tks fd fo’o esa vHkh rd fdlh Hkh lkoZtfud 
dEiuh dk mPpre gS? 

 A. vestu B. Qslcqd 
 C. ,Iiy bad D. f¶yidkVZ 
   

Q.18  ukscsy 'kkUrh iqjLdkj fotsrk dSyk’k lR;kFkhZ fdl ,uthvks ls tqMs gSa? 
 A. ca/kqvk eqfDr ekspkZ B. cpiu cpkvks vkanksyu 
 C. eqfDr dkjoka D. buesa ls dksbZ ugha 
  

Q.19  jktLFkku esa eujsxk ds vUrxZr foRrh; o"kZ 2013&14 ds fy, izfr O;fDr izfr fnu vkSlr 
ykxr ¼:i;ksa esa½ gS& 

 A. 135-6 B. 120-3 
 C. 140-01 D. 150-20 
   

Q.20  foRrh; o"kZ 2013&14 esa eujsxk ds rgr jktLFkku esa fu’kDrtuksa dk izfr’kr jgk& 
 A. 1-5 B. 2-2 
 C. 0-06 D. 0-10 
  

Q.21  eujsxk ds rgr dk;Z djus ds fy, mi;ksx fd;k tkuk pkfg,& 
 A. eSuqvy Je ,oa e’khusa ugha B. eSuqvy Je ,oa e’khusa 
 C. dsoy e’khusa D. buesa ls dksbZ ugha 
  

Q.22  QksjVªku gS& 
 A. Qkby VªkUlys’ku B. QksjesV VªkUlys’ku 
 C. QkWewZyk VªkUlys’ku D. ¶ykWih VªkUlys’ku 
  

Q.23  ckbujh e’khu dksM ds LFkku ij vaxzsth 'kCnksa ds iz;ksx ls fy[ks dEI;wVj funsZ’k dgykrs 
gS& 

 A. Le`rh&foKku ¼Mnemonics½ B. izrhdkRed dksM 
 C. xzs dksM D. vkWidksM ¼Opcode½ 
  

Q.24  20 ,ech vkdkj okyh ,d Qkby LVksj djus ds fy, fdl dk bLrseky ugha fd;k tk 
ldrk gS& 

 A. ¶ykWih fMLd B. lhMh 
 C. MhohMh D. isu Mªkbo 
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Q.25  ,d nLrkost esa vki lehdj.k AX2+BX+C=0 lfEefyr djuk pkgrs gSaA bl xf.krh; 
vfHkO;fDr esa fodYi ^^2** Vkbi djus ds fy, tks mi;ksx fd;k tk,xk& 

 A. bulVZ fDyi vkVZ B. lcfLØIV 
 C. lqijfLØIV D. bVkfyd 'kSyh 
  

Q.26  lgh fodYi dk p;u djsa tks uh;r iSVuZ dks tkjh j[ksxk vkSj fjDr LFkku esa Hkjsa& 
2] 1] ¼1@2½] ¼1@4½]------- 

 A. ¼1@3½  B. ¼1@8½ 
 C. ¼2@8½ D. ¼1@16½ 

  

Q.27  , ch ls nqxquk vPNk deZpkjh gS] nksuksa feydj ,d dk;Z dks 18 fnu esa iw.kZ djrs gSaA , 
vdsyk ml dk;Z dks fdrus fnu esa iwjk djsxk? 

 A. 31 fnu B. 25 fnu 
 C. 27 fnu D. 29 fnu 
  

Q.28  ;fn BRASS dks dksM esa 13566 fy[kk tkrk g]S rks SIR dks dksM fd;k tk,xk? 
 A. 623 B. 315 
 C. 536 D. 420 
   

Q.29  rhu la[;kvksa dk vkSlr 15 gS] rhuksa la[;kvksa ds ;ksx dk nqxquk D;k gS? 
 A. 30 B. 45 
 C. 90 D. 120 
  

Q.30  ,d gkFkh dk cPpk 10 fnu dh mez esa 5 VkWQh [kkrk gS] mez ds lkFk&lkFk mldh Hkw[k 
c<+us ij izR;sd fnu VkWfQ;ksa dh la[;k igys fnu [kk;h VkWfQ;ksa dh nqxquh gks tkrh gSA 
gkFkh dk cPpk 14 fnu dh mez esa fdruh VkWQh [kk;sxk? 

 A. 32 B. 80 
 C. 92 D. 112 
  

Q.31  ih D;w ,oa vkj ,d xksy LVsfM;e esa ,d gh fn’kk esa ,d gh le; ij nkSM 'kq: djrs gSaA 
ih ,d pDdj 252 lSd.M esa] D;w 308 lSd.M ,oa vkj 198 lSd.M esa iwjk djrk gSA lHkh 
'kq:vkrh fcUnw ij fdrus le; ckn feysaxs% 

 A. 36 feuV 12 lSd.M B. 40 feuV 36 lSd.M 
 C. 42 feuV D. 46 feuV 12 lSd.M 
  

Q.32  20 xk;dksa ,oa 40 ur̀dksa ds xzqi esa 20 izfr’kr xk;d 25 o"kZ ls de mez ds gSa vkSj iwjs 
xzqi esa ls 40 izfr’kr lnL; 25 o"kZ ls de mez ds gSaA ur̀dksa esa ls 25 o"kZ ls de ds 
fdrus lnL; gSa% 

 A. 30 B. 45 
 C. 50 D. 70 
  

Q.33  3750 D;wfcd ehVj {kerk okys Vsad dks iwjh rjg Hkjus esa fdruk le; yxsxk ;fn 800 
D;wfcd ehVj izfr feuV dh nj ls ikuh Hkjk tk jgk gS ,oa 300 D;wfcd ehVj izfr feuV 
dh nj ls ikuh fudy jgk gS% 

 A. 4 feuV 36 lSd.M B. 7 feuV 
 C. 7 feuV 30 lSd.M D. 8 feuV 
  

Q.34  e/kqfydk us ,d uEcj eap cuk;k( ftlesa fuEu iSVuZ dk ikyu fd;k x;k% 
3 

5 8 
11 19 30 

49 79 ? 207 
fjDr LFkku ij dkSulh la[;k vk;sxh? 

 A. 121 B. 125 
 C. 128 D. 134 
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Q.35  Tick the correct option: The cowherd was watching his ____________of cattle grazing in 
the forest. 

 A.  flock B. herd 
 C. swarm D. pack 
  

Q.36  Fill the blanks with appropriate word: The _______bank is five miles from here. 
 A. near B. nearer 
 C. nearest D. most near 
  

Q.37  There are many obscurants in today's world. An obscurant is a person 
 A. Who is opponent of inquiry and 

reforms 
B. Who is deeply materialisic 

 C. Who has vast experience in a field D. who is obscure 
  

Q.38  gekjs ns’k ds ohj flikgh ns’k ds gsrq cfynku nsus ds fy, lnSo rS;kj jgrs gSaA 
okD; dk js[kkafdr va’k dkSulk dkjd gS? 

 A. viknku B. dj.k 
 C. laiznku D. lacks/k 
  

Q.39  tks ckny xjtrs gSa] os cjlrs ughaA js[kkafdr loZuke 'kCn dk mfpr Hksn fyf[k,A 
 A. iq:"kokpd loZuke B. laca/kokpd loZuke 
 C. fu’p;okpd loZuke D. futokpd loZuke 
  

Q.40  xUus ds jl dh feBkl LokHkkfod gksrh gSA* okD; ds js[kkafdr 'kCn dk laKk Hksn gS& 
 A. O;fDrokpd B. tkfrokpd 
 C. Hkkookpd D. nzO;okpd 
 

 

 

 

Part B (Hindi) 

Q.41  �नम्न�ल�खत �मट्टी म� से कौनसी �मट्टी का वहन हवा  के माध्यम से ह? 
 A. लोएस B.  शैल मलबा 
 C.  अपोढ़ बाल ूरेती D. रेत के  ट�ले  
  

Q.42  य�द एक आ�ंशक रू से सतंपृ् �मट् क� सतंिृप् क� �डग् 60% है, तो �मट् म� हवा क� 
मात् �नम्न�ल�खत होगी 

 A. 40% B.  60% 
 C. 80% D.  100% 
  

Q.43  �मट् के  ढेर म� �रिक्तय का आयतन और कल आयतन के  अनपुात को �नम्न�ल�खत कहा
जाता है  

 A. वाय ुक� मात् B.  सरंध्र 
 C. वाय ु�रिक्तय� का प्र� D. �रिक्तय� का अनुपा 
  

Q.44   प्लािस् अवस्थ और तरल अवस्थ के  बीच क� सीमा का प्र�त�न�ध करने वाले �मट् म� 
पानी क� मात् को �नम्न�ल�ख रू म� जाना जाता है  

 A. तरल सीमा B. प्लािस् सीमा 
 C. सकंोचन सीमा D. प्लािस्ट�स सचूकांक 
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Q.45  150 माइक्र क� IS चलनी के  �छद्र का माप �नम्न�ल होता है  
 A. 0.0015 �ममी B. 0.015 �ममी 
 C. 0.15 �ममी D. 1.5 �ममी 
  

Q.46  एक सखूी �मट् का �व�शष् दवे�्न 1.35 है| य�द ठोस पदाथ� का �व�शष् गरुुत 2.7 है, तो 
�रिक्तय� का अनुपात �नम्न�ल�खत होग 

 A. 0.5 B. 1.0 
 C. 1.5 D. 2.0 
  

Q.47  लगभग एक ह� आकार के  कण� वाल� �मट् को �नम्न�ल�ख के  रू म� जाना जाता है  
 A. अच्छ� तर वग�कृत  B. अपयार्प्त रूप  वग�कृत 
 C. समान रू से वग�कृत   D. गैप वग�कृत 
  

Q.48   बलआु दलदल (िकीस महड) �नम्न�ल�खत ह  
 A. एस प्रक स� रेत  B.  अससंजंक मदृा  
 C. ससंजंक मदृा म� होने वाल� बहाव क� िस्थ� D. अससंजंक मदृा म� होने वाल� बहाव क� िस्थ� 
  

Q.49  पारगम्यत का �नधार्र करने के  �लए फॉ�लगं हेड �व�ध �नम्न�ल�खत क  �लए सबसे उपयकु् है 
 A. �चकनी मदृा B. अप�रष्कृ त दानेदारमोटे कण�वाल� मदृा (सममर 

ग�नड महड) 
 C.  (A) और (B) दोन� D. उपरोक् म� से कोई नह� ं
  

Q.50  भारतीय मानक हल्क सहंनन पर��ण का उपयोग कर प्रयोगशा म� �मट् के  संहनन के  �लए, 

�मट् पर आघात करने के  �लए इस्तेमा �कये जाने वाले हथोड़े का वजन �नम्न�ल�खत होता ह  
 A. 6.5 �क.ग्. B. 4.9 �क.ग्. 
 C. 3.5 �क.ग्. D. 2.6 �क.ग्. 
  

Q.51  मानक वेघन पर��ण म� हथोड़े के  पतन क� ऊंचाई �नम्न�ल�खत होती ह 
 A. 56 स�मी. B. 66 स�मी. 
 C. 76 स�मी. D. 86 स�मी. 
  

Q.52  प्रत्यास मापांक (E), बलस मापांक (K) और पॉईजन् अनपुात (m) के  बीच �नम्न�ल�खत
सबंधं होता है: 

 A. E=3k(1-2m) B. E=3k(1+2m) 
 C. E=3k(1-m) D. E=3k(1+m) 
  

Q.53  वह सामग्री िजसक गणुस्वभा सभी �दशाओ ंम� सामान है, वह �नम्न�ल�खत कहलाती है 
 A. समांग B. सम�दक (समदै�शक) 
 C. प्रत्य D. ऋज ु
  

Q.54  �नम्न�ल�खत म� से कौन साअ�नधार्य है  
 A. शदु्ध आलं� बीम B. आंत�रक कब्ज के  साथ एक खड़ा क� ट�ल�वर 
 C. क� ट�ल�वर D. बीम िजसके  दोन� �सरे िस्थर ह� 
  

Q.55  एक �पन जोड़ वाले समतल फ्र  के  �लए j जोड़� एव ंसदस्य क� सखं्य m म� �नम्न�ल�ख सम्बन होता है  
 A. m=2j-3 B. m=2j+3 
 C. m=3j-2 D. m=3j+2 
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Q.56  पणूर लम्बा (L) पर एक समान रू से भा�रत (UDL) (w) एक शदु्ध आलं� बीम के क�  द्र प
अ�धकतम बकंन आघणूर् �नम्न�ल�खत हो    

 A. w L2/4 B. w L2/8 
 C. w L2/12 D. w L2/16 

Q.57  वक्र �त्रज R, बकंन आघणूर M और नमन दृढ़ताEI के  बीच का सबंधं �नम्न�ल�खत द्वार
�दया जाता है  

 A. R=M/EI B. M=EI/R 
 C. EI=R/M D. E=MI/R 
  

Q.58  परू� लम्बाईL के  �नतांत पर w/इकाई लम्बाई के UDL के  अधीन एक कै िन्टल�वर बीम के
स्थायी छोर क� ढलान �नम्न�ल�खत होग 

 A. wL2/16EI B. wL3/16EI 
 C. wL/16EI D. शनू् 

  

Q.59  बीच म� क� �द्रत लोW के  अधीन लम्बाईL क� एक शदु्ध आलं�बत बीम क� लम्बाई के म
म� �व�ेप �नम्न�ल�खत होगा 

 A. WL3/48EI B. WL2/48EI 
 C. WL2/16EI D. WL3/16EI 
  

Q.60  परू� लम्बाई पर अ�ी भार क� �भन्नत �दखाने वाले रेखा-�चत को �नम्न�ल�खत कह जाता है  
 A. अपरूप बल आरेख B. बकंन आघणूर् आरे 
 C. प्रण आरेख D. प्रभ रेखा आरेख  
  

Q.61  व्या d के  एक वतृ्ताकार काटका आकृ�त मापाकं �नम्न�ल�खत होग 
 A. πd3/64 B. πd3/32 
 C. πd3/16 D. πd3/8 
  

Q.62  हूप प्र�तबल �नम्न�ल�खत होता  
 A. प�रधीय तन्यत प्र�त B. सम्पीडन प्र� 
 C. �त्र प्र�त D. अनधु�यर प्र�त 
  

Q.63  पतल� द�वार वाले �सल�डर� म� हूप प्र�तबल और अनुदैध प्र�त का अनपुात �नम्न�ल�खत
होता है  

 A. 2 B. ¼  
 C. 4 D. ½  

Q.64  व्या d का एक शाफ् बल आघणूर् "T" के  अधीन है, अ�धकतम अपरूपण बल �नम्न�ल�खत होग 
 A. 32T/πd3 B. 16T/πd2 
 C. 16T/πd3 D. 64T/πd4 
  

Q.65  पषृ्ठ तना क� इकाई �नम्न�ल�खत होती है 
 A. बल क� इकाई के समा न B.  उजार् प्र�त इकाई �ेत 
 C. बल प्र इकाई �ते्र D. अ�वमीय 
  

Q.66  पीटोट ट्यू �नम्न�ल�खत क मापने के  �लए प्रय क� जाती है  
 A. दाब B. वेग 
 C. श्यानत D.  पषृ्ठ तना 
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Q.67  ब�ंधका (वीयर) के  िजस ऊपर� सतह पर पानी बहता है उसे �नम्न�ल�खत के रूप म� जान
जाता है   

 A. नपै B. क्रेस (�शखर)  
 C. �सल (चौखट) D. वेन (�शरा) 
  

Q.68  बरैोमीटर म� पारे का प्रयोग इस�लए �कया जाता है क्य��क   
 A. यह श्रेष्ठ द्र B. तापमान के  साथ इसके  आयतन म� प�रवतर्न होता ह 
 C. यह एक तरल धात ुहै D. यह उच् दाब पर कॉलम क� कम ऊंचाई देता है 
  

Q.69  एक पाइप म� बहाव ले�मनार होता है य�द रेनोल्ड्सखं्या �नम्न�ल�खत  
 A. 2000 से कम B. 2000 और 4000 के  बीच 
 C. 4000 और 6000 के  बीच D. 6000 से ज्याद 
  

Q.70  पलै्टन चक्र �नम्न�ल�खत होता 
 A. स्पशर्रे प्रव टरबाइन B. रे�डयल प्रव टरबाइन 
 C. �म�श् प्रव टरबाइन D. अ�ीय प्रव टरबाइन 
  

Q.71  एक फ्रां� टरबाइन के  �व�शष् ग�त क� सीमा �नम्न�ल�खत होत है 
 A. 10 से 35 B. 35 से 60 
 C.   40 से 60 D. 300 से 1200 
  

Q.72  �ट �चनाई म� �ट के  �दल्ले(फ्र) को आम तौर पर �नम्न�ल�खत पर रखा जाता है 
 A. �नचल� फलक  B. शीषर फलक 
 C. अनावतृ फलक D. आत�ंरक फलक 
  

Q.73  एक ह� शृखंला म� एस्ंखर (एस स�  ब्द एस) हेडर और स ट््र द्वार बनाई गई एक बॉण् सम  
�नम्न�ल�खत र म� जाना जाता है  

 A. स ट््र बॉण् B. हेडर बॉण् 
 C. इंिग्ल बॉण् D. डबल फ्ले�म बॉण् 
  

Q.74  दरवाजे और �खड़�कय� जहमट ओप�नगंम क� साइड को �नम्न�ल�खत कहते ह� 
 A. बाज ू(ज�मबम )    B. हेड्  
 C. पाखे (र��ीलम) D. व�टर्कल  
  

Q.75  �गट्टक �नम्न�ल�खत होता 
 A. बांधनेवाला पदाथर B. मपमटर  
 C. लकड़ी के  टुकड़� म� जोड़ D. लकड़ी के  काम म� इस्तेमा �कया गया जाने 

वाला औजार  
  

Q.76  सीढ़� क� ढलान �नम्न�ल�खत स अ�धक नह�ं होनी चा�हए 
 A. 40 �डग् B. 45 �डग् 
 C. 50 �डग् D. 60 �डग् 
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Q.77  सामान् छत को सहारा देने के  �लए आड़ा रखा गया भाग और जो टेक या द�वार� तक भार 
सचंा�रत करता है उसे �नम्न�ल�खत कहते ह� 

 A. जैक राफ्ट B. ड्रैगन ब 
 C. शहतीर (पन��न) D. तख्त 
  

Q.78  लबंी इमारत� म� �वस्ता जोड़� को �नम्न�ल�खत अंतराल पर बनाया जाना चा�हए 
 A. 20-30 मी. B. 50-60 मी. 
 C. 70-80 मी. D. 90-100 मी. 
  

Q.79  त्रु�ट का सचंय रोकने के �ल ए �नम्न�ल�खत सव�� के  �सद्धा का अनसुरण �कया जाता है  
 A. सम्पूणर् से भाग तक काम करन B. भाग से सम्पूणर् तक काम कर 
 C. उपरोक्त म� से कोई नह D. (A) और (B) दोन�  
  

Q.80  वह सव��ण िजसम� पथृ्व क� वक्र को नजरअदंाज कर �दया जाता है, उसे �नम्न�ल�खत
कहा जाता है   

 A. समधारातल सव��ण B. भगू�णतीय सव��ण 
 C. भगूभ�य सव��ण   D. हवाई सव��ण 
  

Q.81  प्र�त�न अशं 1 / 1,00,000 �नम्न�ल�खत क  पैमाने का प्रतीक  
 A. 1 स�.मी. = 100000 मी. B. 1 स�.मी. = 10 �क.मी. 
 C. 1 स�.मी. = 1 �क.मी. D. उपरोक्त म� से कोईन � ं 
  

Q.82  "t" मोटाई क � प्ले के  मामले म� �कसी भी दो �नकटस् �रपट  क� अ�धकतम �पच 
�नम्न�ल�खत त सी�मत है 

 A. 24t B. 32t 
 C. 36t D. 40t 
  

Q.83  एक रेखा का चुंबक�य �दड्मा �नम्न�ल�खत होता ह 
 A. �ै�तज कोण जो यह चुंबक�य याभ्योत् के साथ  बनाता है 
 B. ऊध्वार् कोण जो यह चुंबक�य याभ्योत्तर के साथ बना ता  
 C. स�दश कोण जो यह चुंबक�य मध्यान् के साथ  बनाता है 
 D. उपरोक्त म� से कोई भ 
  

Q.84  एक �प्र �दक्सूचकका अशंां�कत चक शनू्य अंक से शुरू होता है और �नम्न�ल�खत पर �चि 
है  

 A. उत्त क� ओर B. द��ण क� ओर 
 C. परूब क� ओर D. पिश्च क� ओर 
  

Q.85  चतथुा�श �दड्मान पद् म� 204o-30’ के  पणूर् चक �दड्मा सम  �नम्न�ल�खत से दशार्या जाता   

 A. W 65o – 30’ S B. S 65o-30’ W 
 C. S 24o-30’ W  D. S 24o-30’ E 
  

Q.86  माध्य समुद्र� तल के संदभर् म�   ह� उच् प�रशदु्ध के  साथ भारत सव��ण �वभाग के  
सव��ण द्वार स्था�प तल �चह्न(ब�च माकर ) को �नम्न�ल�खत कहा जाता है 

 A. जी. ट�. एस. (G.T.S.) तल �चह् B. स्थाय तल �चह् 
 C. स्वेच तल �चह् D. अस्थाय तल �चह् 
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Q.87  �िन्नयन(Trunnion) अ� या अनपु्र अ� �नम्न�ल�खत होती ह 
 A. वह अ� िजसके  चार� ओर दरूबीन को एक ऊध्वार् तल म� घमुाया जा सकता है  
 B. वह अ� िजसके  चार� ओर दरूबीन को एक ��ैतज तल म� घमुाया जा सकता है 
 C. ऊध्वार् अ� 
 D. �ै�तज अ� 
  

Q.88  अलग-अलग �त्रज वाले एक वक को िजसे एक सीधी और एक वतृ्ताका वक के  बीच 
स्था�प �कया गया ह� उसे �नम्न�ल�खत कहते ह� 

 A. यौ�गक वक B. सकं्रमण  
 C. ऊध्वार्धर  D. �शखर वक 
  

Q.89  कंक्र�ट कसम्पीड सामथ्य को �नधार्�रत करने के  �लएएक घन का आकार �नम्न�ल�खत होग  
 A. 150 x 150 x 150 �ममी B. 175 x 175 x 175 �ममी 
 C. 200 x 200 x 200 �ममी D. 225 x 225 x 225 �ममी 
  

Q.90  बड़ ेपैमाने पर कंक्र��ट के  दौरान �नम्न�ल�खत म� से �कस सीम� का उपयोग ससं्तुत ह 
 A. रै�पड हाडर्�नं  पोटर्ल� सीम�ट B. कम तापीय सीम�ट 
 C. त्व�र से�टगं सीम�ट D. सल्फे  प्र�तरो सीम�ट 
  

Q.91  कंक्र म� �नम्न�ल�ख म� से कौन से गणुधमर् के बारे म� संके   प्रद करने के  �लए मखु् 
रू से एक स्लंप कोन का प्रयोग �कया जाता  

 A. स्था�यत और प�रष्कृ�  B. वाय ुसरंोहण और रासाय�नक प्र�तर 
 C. बल और सकुायर्त D. प्रती और रंग 
  

Q.92  कंक्र के  सघंनन(समपहकशन) का मखु् उद्दे �नम्न�ल�खत ह   
 A. वाय ु�रिक्तय को खत् करना 
 B. अ�धकतम घनत् प्रा करना 
 C. कंक्र और मजबतूी प्रदान करने वाल� साम के  बीच उ�चत सपंकर  प्रद करना 
 D. उपरोक्त सभ 
  

Q.93  IS:456-2000 के  अनसुार, सरंचनात्म उपयोग के  �लए कंक्र क� न्यूनत ससं्तु ग्र 
�नम्न�ल�खत ह  

 A. M 30 B. M 25 
 C. M 20 D. M 15 
  

Q.94  HYSD बार का उपयोग करने वाले स्लै के  मामले म� ससं्तु स्ट� क� न्यूनतम �खशख 
�नम्न�ल�खत है 

 A. 1.0 % B. 0.3 % 
 C. 0.15 % D. 0.12 % 
  

Q.95  कल� प्ले क� मोटाई �नम्न�ल�खत से क नह�ं होनी चा�हए 
 A. 6 �ममी B. 8 �ममी 
 C. 10 �ममी D. 12 �ममी 
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Q.96  �न�मर्  इस्पा कॉलम म� ले�सगं को �नम्न�ल�खत का �खरमन करने के  �लए बनाया जाता है 

 A. कॉलम लोड के  2.5 % क� वजह से 
बकंन आघणूर्  

B. कॉलम लोड के  2.5 % क� वजह से अपरूपण
बल 

 C. कॉलम लोड के  2.5 % क� वजह से 
अ�ीय बल 

D.  (A) और (B) दोन� 

  

Q.97  ऑक्सीज के  साथ या उसके � बना जी�वत रह सकने वाले बकै्ट��रय को �नम्न�ल�खत 
कहते ह�   

 A. वायजुीवी बकै्ट��रय B. अनॉक्सीय बैक्ट��र 
 C. फसु��ट�ी बकै्ट��रय  D. कॉ�लफोमर बकै्ट��रय 
  

Q.98  जल उपचार सयंतं के  एक अवसादन ट�क म� अकाबर्�न कण� के  तलछट का वेग 
�नम्न�ल�खत स �नय�ंत् होता है 

 A. डास� का �नयम B. दपुइुट का �नयम  
 C. स्टोक का �नयम D. उपरोक्त म� से कोई नह� 
  

Q.99  नगरपा�लका क� आप�ूतर पर प्रत्येक व् के  घर के क नेक्श पर स्था�प �कया गया पानी 
का मीटर �नम्न�ल�खत होता है 

 A. वेग मीटर B. आनमुा�नक मीटर 
 C. �वस्थाप मीटर D. ग�तमापक (स्पीडोमीट) 
  

Q.100  बीओडी हटाने क� अ�धकतम �मता �नम्न�ल�खत म पायी जाती है  
 A. ऑक्सीकर गड्ढ B. ऑक्सीकर पोखर 
 C. वा�तत लैगनू D. �ट्रिक्लंग �फ 

 

-----END---- 


